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Two types of traveling waves

A transverse wave

Up/down Motion of wave at speed v ===
i /\
v
A longitudinal wave
Push/pull Motion of wave at speed v -
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FIGURE 20.20 A plane wave.

Very far from the source, small segments of
spherical wave fronts appear to be planes. The
wave is cresting at every point in these planes.
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FIGURE 20.19 The wave fronts of a
circular or spherical wave.

(a)
Wave fronts are the crests of the wave.
They are spaced one wavelength apart.
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The circular wave fronts move
outward from the source at speed v.

(b)

Very far away from —
the source, small -..., Al AL A ’

sections of the wave '3

fronts appear to be )
straight lines.
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VITESSE DU MOYEN
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EXEMPLE y(x,%): Yo Sin (k0 48

Considérons une onde sinusoidale le long d’'une corde : y(x, f) =0.00327 sin (72.1x - 2.72t)
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~ Déterminez y,,, k, 1, T, fet la vitesse de 'onde. —

_—Calculez la vitesse et I'accélération transversales. —

U = %J%:- WY [oa(l(x—ch)
O\ = 0—{0—&: "Uk)zljm ng(?HU?



ONDE SUR CORDE TENDUE




QUESTION

Si on double la tension d'une corde, la vitesse de l'onde est
(a) Doublée,

(b) multipliée par 4, (/
@ multipliée par 1.414, !
(d) divisée par 2,

= |

(e) aucune de ces réponses. U




QUESTION

-V,
Trois ondes se propagent au long o I
des cordes identiques. Quelle aura
la plus grande vitesse: sV,
(@ A S o NS
(b) B .
(c) C 7

(d) Aucune de ces reponses V4 > Ve




GENERATING A SINUSOIDAL WAVE

Une corde trés longue avec p = 2.0 g/m est tirée avec une tension de 5.0 N. A x = 0 m on
connecte un moteur qui vibre a 100 Hz avec une amplitude de 2.0 mm. On considére t = 0

quand le deplacement vertical est maximal.

(@) Quelle est I'équation du deplacement pour I'onde progressive dans cette corde?

(b) At =50 ms, quel sera le déplacement de la corde a une position 2.7 m loin du

moteur?
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LA VITESSE DE PROPAGATION DES ONDES

b \/ facteur de force élastique 7/ _ E
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ENERGIE TRANSMISE PAR UNE
ONDE ELASTIQUE
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REFLEXION,
ABSORPTION ET
TRANSMISSION
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REFLEXION,
ABSORPTION ET
TRANSMISSION
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REFLEXION,
ABSORPTION ET
TRANSMISSION

U grand




REFLEXION,
ABSORPTION ET
TRANSMISSION

U grand U petit
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ONDE DE PRESSION

P(x-AlR2, 1) P(x+AIR, 1)



Increasing frequency (Hz) ———

10° 10° 10" 10" 10"

1 |

AM radio FM radio/TV Microwaves Infrared
300 3 0.03 3X 1074 3 X 10°°

1016 1018
1 1

Ultraviolet X rays
T 1
3% 1078 3X 1071

<— Increasing wavelength (m)
Visible light

I
700 nm 600 nm 500 nm 400 nm

White light passing through a prism is
spread out into a band of colors called the
visible spectrum.




LE SON COMME
UNE ONDE



VITESSE DU SON - EXEMPLE
U= ¥

Milieu Vitesse (m/s) D ﬂ
Air (0°C) 331
Air (20°C) 343
Helium (0°C) 970 Y ﬁ\
Ethyl alcohol 1170
Eau (20°C) 1480
Granite 6000
Aluminium 6420

Tableau 18.1: La vitesse du son.

Pour comparer: la vitesse de la lumiére est 3.00 x 108 m/s



LE DIAPASON =~
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LA SUPERPOSITION DES ONDES

I m/s I m/s (.
2= el

T T T X (m)
0 1 2 3 4 5 6 17
Two waves approach each other.
t=1s
f T — x (m)

t=12s

} — x (m)
0 1 2 3 4 5 6 7
The net displacement is the point-by-point
summation of the individual waves.

o 1 2 3 4 5 6 17

Both waves emerge unchanged.
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Sinat g = 23““(%)-9{\&0%]?)
INTERFERENCE D’ONDES

Y'(x,0) =y (x,0) + y,(x,1)
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INTERFERENCE D’ONDES

Two overlapping water waves create an
interference pattern.
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